
Solving a Rational Inequalities

Now that we have learned how to solve Rational Equations, we are
going to learn how to solve Rational Inequalities.
But first, let’s take a closer look at our method of solving inequalities

We have been using the fact that the larger side of an inequality can
only change at places where the two sides are equal.
This is still true, except at the places where our function is undefined
In our graph of f (x) = 1

x−1 we can see the change from 1
x−1 < 0 for

x < 1 to 1
x−1 > 0 for x > 1 without passing a point where 1

x−1 = 0
So, which side is larger in our inequality can switch when LHS = RHS
(like before) or when D(x) = 0 and our function is undefined.
We need to break our number line up at both of these types of places,
and check a representative value on each interval.

http://coobermath.com/Math_Meta/General_Conclusions/Solving_Inequalities_General.pdf
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